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Instructions :
GOIoy = ()

(i)
Note : (i)

Qamareraybd. FHLILS N GampuilmLiiber Simns samsreanilliumerflLb
o L amqwinss Ggfleilgsem.

Beod g s®mUY owuloear LLHCL  TWHUSHGD
93 &ECasTe(haugn@Gb LwearU(hds Ceauar(Hb. LLBIGET UTeUSDE
QuenFled LiwemI(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

@& - 1/ PART -1

SlemensG NaTTESHERSEGD ellen_iet&seb. 15x1=15

Qarhsslul(heTer mrew@ WrHm eleseafle WEead ehHenL

afleLemws ComhosHdgIs GMUIL L6 eflanLulamern b Cargg) 6T(PHeLd.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1.

2
floo meamapuiflaeer 2 areilley CargEn LT I4MHE ereom Cuwi.
(<) dedlayGse () ppaars_ Bz
(@) s(HsTE FanLDSSH6D () ABrssen
The process of adding some micro-organisms to food is called :
(a) Fortification (b) Germination
(c) Additional cooking (d) Fermentation
SHMET WLHMLD ST LILIGRTBIGET FLPEOLD Qupliu®&lemmer.
(=) Corg Sigiueuiser (=) Ardpdlsgien oig@uebise
(@) SHOLITET ey LIeBISET () Qemhser FTihs Se)LIeUBISET
are gained by the pupils through excursions and trips.
(a) Direct experiences (b) Representative experiences
(c)  Symbolic experiences (d) Verbal experiences
Cum sressHE WPHasW STeLd <G LD.

(1) 230 Wpse 240 BILGET auedy (<) 270 WPHed 280 BIL&HET QUGN
(@) 180 wpse 200 Briger eueny  (FF) 200 (p&He 210 BILSET eUGNIT

The prenatal period consist of days.
(a) 230 days to 240 days (b) 270 days to 280 days
(c) 180 days to 200 days (d) 200 days to 210 days

@il wepar Mledlie) SLPHD THS AT 2 (HeUTSSULLL G ?

(=) 1941 (<4) 1921 (@) 1951 (rr) 1931
In which year Home Science Association of India was formed ?
(@) 1941 (b) 1921 (c) 1951 (d) 1931

__________ wepuiled 2 araurearg < eluied Cousmeassiiuil @ Bler Qgmiiy
@eeroed FamwsslLbhiSng.

(<=1) &L meudSen (<) Brrefufler ojelggen

(@) 2AWsss QarHsean (r) Qsrdés meugse

A method of cooking where food is cooked without any contact with water is called :

(a) Stewing (b) Steaming

(c) Pressure cooking (d) Boiling



3
YermevGorenedlen wpenpulled sHOLILIHIGUE)
(=) e amreilgyarer BIrliGlLImHL&6T
(<=1, mieramiudfseafigyerer B
(@) 2 awrelle 2 arer GBTSlSH6T
(FF) 2 ewrellQueTer F&5gIHSHeT
Plasmolysis is removal of :
(a) fibre from foods
(b) water (moisture) from micro-organism
(c) enzymes from food
(

d) nutrients from food

Fapml (A) : ermendlm LIRS ERsE CFuwiiu(eldoama.

snreserd (R) Gerrendlm ClFlelg ULPBISEHSE FMsS sl e,
BlpgiSsenan oD GHUGSSHADS.

(=) (A) g, =pemmed (R) Soum

(<=4) (A) womid (R) @rar(id &fl, Coaud (R) erarug) (A) i@ sflwrear aflerésd <,@LW0

(@) (4) pau, spamd (R) &

(FF) (A) wpmid (R) @reawr(hb &fl yeme (R) eremug) (A) alh@, sflwrer allerdsLneden

Assertion (A) Blanching is not done for fruits.

Reason (R) : Blanching gives the fruit a cooked flavour and soft texture.
(@)  (A) is true but (R) is false.

(b) Both (A) and (R) are true and (R) is the correct explanation of (A).

(c) (A) is false but (R) is true.
(

d) Both (A) and (R) are true but (R) is not the correct explanation of (A).

GoDUTH STreassTed esrml@h i&sn HuBEng.
(1) Cwimigeor (<=1) sTevdwid (@) umevurev (FF) @mbyFss5g)
Goitre occurs due to the deficiency of

(a) Iodine (b) Calcium () Phosphorus (d) Iron
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9.

10.

11.

12.

4
<f&uller oflseare] sreamriL(D oo’ L F555)

(1) Camrepuy (=) Yrsw

(@) =Wliréssg) (rF) srrCumenant Gl
Rice is a rich source of

(a) Fat (b) Protein

(c) Vitamin (d) Carbohydrate

@ndlwralled erhgs st WPaerpsele wenar SiPlafluieme PlpslLIhSSwg ?
(1) @seMd Ll UGl sl - epangrrums

(<=4,) Covig @rrallerr seogyntl - GlL_cved)

(@) uenre) Cameur seoeynil

() @uranflCwfl saoamfl - Glearener

Which College first introduced Home Science in India ?

(a) Jagruti Degree College - Hyderabad

(b) Lady Irwin College - Delhi

(c) Goa College of Panaji

(d) Queen Mary’s College - Chennai

nhsGurg @mbS erenleamt alll, e U GLPHS LOLMBIE eTenl_
S &M@ LWD.

(=1) prene (<) @rem( (@) a5 () epammy

At one year, babies will weigh times as much as their birth weight.

(a) four (b) two (c) five (d) three

L sens BlanpCoupmieusnarer HlieurssHlen Ligblane Y GLD.

(<=1) sLELUOSEED (=) JLLBlBse

(&) puuELOssI5D (m) Qusgse

The step in the management process to carry out the plan is called
(a) Controlling (b) Planning
(c) Organizing (d) Directing



5
13.  waflgem 0TS GUETLD GTemLIg)
(<=1) e (<=4) wemrd (@) weariurme () <Adley
Non-human resource is :
(a) Skill (b) Money (c) Attitude (d) Knowledge

14. “ifls Cuds Hleombs e’ eTamm HeP&SLILIHID LIHeUD 6Tg ?

(=) euerflemd Li(heuLd (<=4,) (e LeTatll Liheuid
(@) wdreuwg LmeuDd (rF) e weraflls LpEULD
Which period is called as the “Chatter box age” ?

(a) Adolescent period (b) Early childhood period
(c)  Adulthood period (d) Late childhood period

15. wHGprEm pur Bg 2Ldd ShiEg oog srunsmer GoamrB6wearGn

THLOSSIUS <SG
(=) aum@mfl wpermCs(H (=) 2L &riBg (PermGsa(H
(@) e QsrLirged (FF) o euri&dl permGa®
is an intentional infliction of bodily harm (or) injury on another person.
(a) Verbal abuse (b)  Physical abuse
(c) Stalking (d) Emotional abuse

@& - I1/PART - I
GOl : gCaeid ymi elamss@ps@ LLOL elawellGsea . eberm eramr 24 -&@
SL_L_muwns adenL_weflé&sab. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.
16. wear siPeiweiler o L 19fesear wreve ?

What are the various disciplines of Home Science ?

17. @&UULP&SD — eUMTWMI&HSE]|LD.

Define - Handedness.

18. Smsralwunsefler srauliLhbD 2ol | FFSHISHMET 6T(LPSIS.

List the important nutrients present in millets.
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19. 2L olled Bréesg Gomey erarm gHUBEDG ?
What are the causes of dehydration in the body ?

6

20. ufibgienrsslul L Fggissaflen oere] — eUaTUMI&HSHE|LD.

Define recommended dietary allowance.

21. weflg euerd HMID CureTaleTSmg Coumi(HSSIs.

Differentiate between human and non-human resources.

22, gseud Qgmmder 7C -g3 eT(Lpg)s.

Write the 7C’s of communication.

23.  DET (PSSO — UTILIMIESE|LD.
Define - Stress.

24. uLprseer USLILUGOSFHeuSHe Frssanruier Lini@ wrg ?

What is the role of sugar in the preservation of fruits ?

L@&g! - 111/ PART - III
@MY : aCaenid ymi famss@rs@ ol Hb elawellGsea . eberm eramr 33 -&E
SLLmuong allenL weil&Esa]|m. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. Quiatfluey @QrssCeramsamw sH&GL 2 uwilissdar Qrearh CoumesHmarnd
GINIEICE:S

Give any two functions of a vitamin which prevents pernicious anemia.

26. urev(heanrGaager eped LUSULHSSUILGHD 2 are|sE@hsE Q@ 25T ewT k& emer
T(WPSIS. AbS 2 ammeller LiwemI(HSSIUBD Cleuliub HMID &ETe jeTallenar 6T(LpFis.

Write two examples for pasteurized food. Give the temperature and time used for the same.

27.  gienwl Umeusdled s&duden CHenel eT&STTaTBISETTE) GGmDEDG ?

What are the reasons for decrease in energy requirement during old age ?

28. euerflemd LeusSlen SlmLdwieLsemer 6T(Lpg)s.

Write the characteristics of the adolescent period.



29.

30.

31.

32.

33.

7

UTPENSS SIS 2 WTSglaudled wanem dleAlwicien LIkIE 2 aTersT ? <yl erefle,
DASDE ASTOUTE LHETN| ST eI RIS Fnm)is.

Does Home Science have a role in improving the quality of life ? If so, give three reasons in
support thereof.

groreflssaler LCeum Ligsemar Ll igwiad(His.

List the various steps involved in decision making process.

< @penoudler Sprinduieyser wreanel ?

What are the characteristics of personality ?

sHA&EL o LsTavhiseilen LILIGTSET Wreanel ?

What are the uses of teaching aids ?

wperersl_(HHed eTargl oarl’ L F&&gsHmer Galapl (Hb wpevmseaie eerm. @b

Fahm o emenowr ? Hlumuiubhss)s.

Germination is one of the methods of nutrient enrichment. Is this statement true ? Justify.

L@&S - IV/PART - IV

SO : Semesisg lamés@ns@En el waefldsab.
Note :

34.

35.

(1) e awredler o L allwe eweur@samer efelfl&sab.

(<) slewemt 2 amreysatian euanssaerll LHM allfleurs erpgis.

(a)

(b)

Answer all the questions.

S|6V60G)

Explain the physiological functions of food.
OR
Write in detail about types of Supplementary foods.

5x5=25

(1) @emd SlorT @GHoeuratlsamens GampULISHES Coameuwimer SHLIL| HL6lqSaEEH6T

(<) Wrésenanseners Sriiudler o arer Ligsamer alleufldsaLb.

(a)

(b)

er(hliug upd efleuflGga] .
LMV Y

Describe the preventive measures that are necessary to reduce juvenile delinquency.

OR

Explain the steps in problem solving process.
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36.

37.

38.

8
(=) @pdwredler wenar Mledlwedler eurrHmlenar ableutlgseaLb.
LMV
(<) pECwrigERsE ulibgiamrsslul L 2| 555 GCsmeusamer adlauflése .
(a) Explain the history of Home Science in India.

OR
(b) Explain the nutritional needs for the elderly.

(=) sellgrellen Fmseaiiey Qréssasle) gnul(Heararg. sTosald Qrs55555 6]
Yereflger smrenrliLi(hdlemmer. Gogyb el (Heuadl, sHib werCGamreay GLimeameuHmmed
UTSESLILL (Do, jeuheni W ensudled erhLl L STUD 3 nieus| STSTEDS.
SNST 6THS 2o’ | FFE5F| GePneUred LTSS (HETermT ? ibg 261’ L FF55 6
Couamevaar wmrenel ?

ENTVOVE: Y
(=) ueGaum euensTenr GNECsHTeTHmer allouflEsHa,Lb.

(a) Kavitha is experiencing gum bleeding. Hemorrhagic spots are seen on the legs. She is
also suffering from arthralgia and severe depression. The wound on her hand is also
taking longer time to heal. Which nutrient deficiency is Kavitha suffering from ? Write
the functions of that nutrient.

OR
(b) Explain the different types of goals.

(=) B s QFTLmen CsmeTanssamer allersEs.
ENTVVE:

(<) 2D meudHelen pPED LIPEIGE, STUSDISGET, WIblFh WwHmnb LDnenel
@epssl Curarmeumerm LITHETSGLCUTE salansHlew Csmearer CouemTig.u
Gouysamer efleufl&EgHe, .

(a) Write in detail about the principles of Good Communication.

OR

(b)  Explain the points to be considered while preserving fruits, vegetables, meat and poultry
by freezing.

-00o0-



